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2227t 5.1 33.5 2.20% 0.60%
Zoel= 10.1 77.9 29% 13%
B = 8.2 58.3 18% 5.80%
H EY 3.4 25.5 0.60% 0.10%
QA Egjo} 11.4 44 33% 17%
@l 7)o 12.8 59.3 52% 26%
SR 14.5 50.9 46% 27%
o3 14 50.1 51% 29%
et 14.8 57.4 51% 28%
mapA 8.2 38.9 21% 8.70%
= 11.5 49.2 37% 19%
3 7}2 10.7 53.9 36% 18%
o= 12.4 52 41% 23%
o] A atol 11.2 70 36% 14%
o]&ra]o} 6.5 30.1 9.20% 3.40%
Ell=is =t 15.6 63.5 60% 34%
1 29)0] 16.4 55.9 54% 37%
) 10.6 45.6 34% 17%
ZT2EZ} 10.6 47.9 37% 19%
=2oh o} 13.1 72.9 57% 27%
2] Alo} 10.2 57.9 38% 15%
2 24}7]o} 11.2 49 28% 17%
Jol L) stz 3.7 18.9 2.90% 1.70%
21|91 10.4 53.5 34% 17%
A 17.4 69 55% 38%
A A 16.2 62.6 61% 36%
§7] 6.2 38.5 7.60% 2.90%
o}gtofn]a] E 6.8 45.8 10% 2.30%
g2 13 54.2 46% 28%
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1 = 721,434,547 52.2%
2 A 462,124,989 34.8%
3 o] = 286,942,362 88.5%
4 BapA 139,111,185 66.4%
5 g 115,111,595 91.1%
6 2] A]o} 105,311,724 71.3%
7 L}o] x| 2] o} 86,219,965 46.1%
8 =d 71,016,605 88.0%
9 = 60,273,385 92.6%
10 EilPN 58,016,997 45.1%
11 kA 55,860,330 86.4%
12 Ql =Y Alo} 53,236,719 20.4%
13 HEG 49,063,762 52.0%
14 E7] 46,196,720 58.0%
15 g 44,478,808 43.5%
16 o stel= 43,274,132 85.7%
17 oj&a]o} 39,211,518 65.6%
18 o=t 39,149,103 48.9%
19 AmQl 37,865,104 82.2%
20 o7 | AEF 34,342,400 17.8%
21 7Ruct 32,120,519 88.5%
22 o|A E 30,835,256 33.0%
23 of=3NEILt 30,359,855 69.2%
24 B = 29,078,158 42.7%
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25 Jotmal7tg st 28,580,290 52.0%
26 Z3c 27,922,152 72.4%
27 =2 2u|o} 27,664,747 56.9%
28 Lle=tIte Py 23,183,372 14.4%
29 ALt 21,248,977 45.0%
30 22 o] Ao} 21,090,777 68.6%
31 A}--t] o2ty of 20,813,695 64.7%
32 QA EFYAa]o} 20,679,490 85.1%
33 23 20,068,556 57.6%
34 © Fajo|ut 19,678,089 44.1%

Efo] 2t 19,666,364 83.8%
35 LIS R | 18,254,349 57.9%
36 Yzt 15,915,076 93.7%
37 © muj|7] AE 15,453,227 51.0%
38 RIgS|E) 15,152,610 38.2%
39 Ay 14,108,392 77.8%
40 o2 13,036,965 41.0%

« BA: 9710t



	연습문제_1
	개요
	[Part1] 인터넷(Internet)
	1. 인터넷 정의
	2. 아르파넷과 인터넷

	[Part2] 인터넷의 역사



